EARAZROREIERT — 2 N—XBISY —F 20185F9F16H (H) 12@1{x&E3H

‘ (] 8 ‘ (EmmEl  — | 4 (5) 0N AE

12R NN XY:

[A~&E£] 1% :210,000  ~ 237%:63,000 W  33%&:21,000H ~ 43%&:13,000 W ~ 57 :8,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. : 4 3 | BERE—ER 54.6 2-1 36.0| — 2 485 | JNIEZEF (£8)
117110 Ly FrO-FR 54.0 (=) (-4) AR R 1 B
L:O0—-Kp+a7 B:7LyFrOyi SRS
— N BERD . - . = KiIBHX (EE)
2l5]6 =P % 3 i 5(54)3 1-2 36.8 1 :411;) Pt =1
L:2—MILVEYIIL B:574 by F LIRS
i3 | AMALZ 56.3 6-5 36.9| — 5 468 | REM (EH)
317]9 <)/ 7xzUX 54.0 (5) -2) KEFEYF
YL KYYYRIZR Biax/w—Hly b 759 BEds
N 9 PriED - — HENEH (EE)
4|5|5| B>/ INLRIL R 5?99) 19| %8 ! ;‘_415) iy
LRARN=3>Tk—L B:TIT1TT7U R HEAFENS
[ t 3 | AllER 56.6 10-11 371 — 3 407 | FEBH (£E)
5 8 /AR 54.0 (11/2) (-4) REFEUF
LY — K BITULTFHEAS— 759 BEHS
o . S RBEEZ . = . = FEBF (£8)
61812 ~) /3 —=—TIJ-=-2X 5 € 54.0 (5761:7) - 979 10 (4_5;3) MEH&E -
RV TATIAL R B:IT9>T4T5 759 BEts
—s 4% 3 | EBERE 56.8 3-3 38.2| — 6 406 | =/HEEA (EH)
] 3| ETIAREZ— 54.0 (1/2) (- | dEASE
RNX—HINK BNT—FT5T g Y]
L= — 4 3 | WTHE 56.8 9-7 37.4| — 8 462 | LB (1EH)
gl1|1|¥T == 56.0 (7€) te) | FEE
R:Gr—3YFL BiK-—FE21-—TF1 FH—NSN=5 22K
[N FAFIK . - . — neE (K8
9 7| FIZXTwRI i 3 o 5(71)0 7-8 37.7 7 <4+551) EAEJE‘é 3
LTUBARILR BYUYUERF—D v s
s 4 3 | REEC 57.1 5-6 81| — 9 459 | HEEEF (1£R)
10 4 EMILLD 56.0 (3/4) (-4) REEE
Rig— RVEYIL B:YaE— =¥ T L
—3 4 3 | HREEA 57.1 11-10 37.4| — 12 500 | WWEZBA (£H)
11 2 IXATAI 56.0 (NF) (- |EFES
Z:aArFady b Bi=YaxTvy AR
S —_p = 4 3 S 58.9 8-12 39.4| — 1| 346 |EEXEE (£H)
12811 YT =—Ea—7« 54.0 (9) (-q) | TTERERR
L:Nd BA Y4 AT AAFREERASERBS
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= 6,10,3,12,4,9,7,11,1,8,2,5
4=1=Ch— 10,6,3,12,9,4,1,7,5,2,8, 11
[ RN
B OB 10 310H 714K 6-10 150H e & 5-7 220M &R 6-9-10 880HM
8 B 10 110 9-10 620 B E 6-10 180 JEH 10-6-9 2,920/
6 1204 6-9 480M B H# 10-6 5004
9 280M

ABICOVWTRDTEEERROODE. TR LIV,




